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	Lead2pass 2017 September New NetApp NS0-158 Exam Dumps! 100% Free Download! 100% Pass Guaranteed!  Whether you are

a student attempting to pass NS0-158 exam to be eligible for a post-graduate job, or a working professional hoping to improve your

work credentials and earn that dream promotion Lead2pass is here to help. We have NS0-158 exam dumps and brain dumps, so

passing NS0-158 exam is not an easy feat. Following questions and answers are all new published by NetApp Official Exam Center:

https://www.lead2pass.com/ns0-158.html  QUESTION 61Storage QOS maximum throughput limits can be defined in terms of: A.   

IOPS onlyB.    MB/s onlyC.    IOPS or MB/sD.    IOPS and MB/sAnswer: C QUESTION 62The aggregate relocation feature allows

an administrator to move a __________. A.    Data aggregate to any nodeB.    Root aggregate to any nodeC.    Data aggregate to the

HA partnerD.    Root aggregate to the HA partner Answer: C QUESTION 63In clustered ONTAP 8.2, which statement is true about

backup vaults? A.    Only work on qtreesB.    Work on all volumesC.    Only work on FlexVol volumesD.    Only work on Infinite

volumesE.    None, clustered ONTAP doesn't support SnapVault Answer: C QUESTION 64What is the supported speed and frame

size on the cluster interconnect? A.    1 Gb / 1500 mtuB.    1 Gb / 9000 mtuC.    10 Gb / 1500 mtuD.    10 Gb / 9000 mtuE.    No

specific requirements Answer: D QUESTION 65Which statements are true of licensing in clustered ONTAP 8.2? (choose all that

apply) A.    The base license is still required and is based on the node countB.    Licenses are node-lockedC.    Length of license is 14

charactersD.    Length of license is 28 charactersE.    HA functionality doesn't require a licenseF.    HA functionality requires a

license Answer: BDE QUESTION 66The network interface show command output lists the value of "false" under the "Is Home"

column. False signifies the LIF __________. (choose all that apply) A.    is disconnectedB.    has failed overC.    is administratively

disabledD.    has been migratedE.    is currently being migrated to home node Answer: BD QUESTION 67What type of LIF is used

to replicate between two clusters? A.    nodeB.    clusterC.    interclusterD.    cluster-mgmtE.    data Answer: C QUESTION 68Which

logical interfaces have failover and online migration capabilities in a different node? (choose all that apply) A.    ClusterB.    Cluster

managementC.    Data (FC, iSCSI)D.    Data (CIFS, NFS)E.    Node-management Answer: BD QUESTION 69How many cluster

ports per node are supported in clustered ONTAP 8.2? A.    OneB.    TwoC.    ThreeD.    Four Answer: B QUESTION 70Which

commands can be used to create a data Vserver? (choose all that apply) A.    vserver configureB.    vserver setupC.    vserver

set_upD.    vserver makeE.    vserver create Answer: BE More free Lead2pass NS0-158 exam new questions on Google Drive: 

https://drive.google.com/open?id=0B3Syig5i8gpDSlNsODFqU2FNSEk  Your focus should be getting the best dumps to prepare for

NS0-158 exam. That is where Lead2pass comes in. We have collected an extensive library of exam dumps from NetApp

certification. 2017 NetApp NS0-158 (All 121 Q&As) exam dumps (PDF&VCE) from Lead2pass:  
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